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Order of Operations Crossword
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ACROSS

21 —4+5
17 x(2+2)
44 + (1 +1)
34— (9 x2)
3 x (10 — 3)
52+(3+1)
5x(1+4)
40+3+1)
4 x (72 +12)
2 x(6+2)
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DOWN

. 35-2x5
2. 36+ (1+2)
3. 78+ (0+3)
4. 1x(18-7)
5. (2%x26)+4
6. 5x(2+3)
7. 5x(12+4)
8. 40+ (9-7)
9. 28-7x2
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72+ (6 + 3)



Answers

00
2121 117
5 22 |
16 211
1|3 215
5 110 3
24 16
ACROSS DOWN
1. 21—-4+5 1. 35—-2x5
2. 17x2+2) 2. 36+(1+2)
3. 4+=(1+1) 3. 78+(0+3)
5. 34—-(9%2) 4. 1x(18—=17)
6. 3x(10—3) 5. (2x26)+4
7. 52+=3+1) 6. 5x(2+3)
8. 5x(1+4) 7. 5x(12+4)
9. 40+-3+1) 8. 40+-09-17)
11. 4 x(72+12) 9. 28—7x2
12. 2x(6+2) 10. 72+ (6+3)
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